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NMMS - NOVEMBER, 2017

MENTAL ABILITY AND
SCHOLASTIC APTITUDE TEST -

. sze Palt I 90 Mlnutes
 Time : Part-11: 90 Mmutes

Max. Marks : 90
Max. Marks : 90

' ',InsirUctions to Candidates i

<Please write your.Centre Code No.
- and Roll'No. very clearly (only one

digit in one block) on the OMR

Sheet as given in your admission - -
_card. Please sée that no block is
‘left - unfilled: and ~even .Zeros
-appearing in the Centre Code No.

are correctly. transferred to the,

» approprlate ‘blocks on the OMR

Sheet as* sown ' in the example -

given ‘in the :OMR' Sheet.  For. all
subsequent purposes, your Centre
Code No: and Roll No. shall remain
the :‘gsame as given  on the
Admission Cayd.
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2.

~ Since  -all

. Read the foHowmg mstructlons carefully before you answer the questlons Answers'
~are to be SHADED on a SEPARATE given OMR Answer Sheet with a HB Pencil.

- Read the Instructlons printed on the OMR Sheet carefully before
: ,zanswermg the questlons.

The Test is in TWO Parts. Part-I
consists: - of 90 - questions -and

Part-II also consists of 80 questions.

“All questions in Part-I and Part-IT

carry one mark each:

Questions “are
compulsory, do not try to.read
through the whole question paper

- before beginning to answer it.

Begin with the first question and
keep trying one question after-
another till you ﬁmsh both “the’
Parts.



5. 1f y'o"ﬁ?do not know the answer to

“any question, do not spend much
time on it and pass on to next one.
If time permits, you can come

back to the questions which you.

have left out in the first instance
and try them again.

Since the time allotted to:the two

‘parts of this question paper‘is
very limited, you should make the
best use of 1t by not spending too
~much tlme on any questlon

A blank,page 1is prov;dedfor ,rough .

work at the end of each part.

9. REMEMBER, YOU HAVE TO
- SHADE ANSWERS ON A

 SEPARATE ' OMR SHEET
.PROVIDED

10.

11

12.

13.

[2i
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Answer to each question is to be
indicated by SHADING. the circle
having the number 6f the correct
alternative in the OMR Sheet
from among the ones given for the
corr espondmg ques’clon in' the
booklet

Now turn to. the next page and ‘

start answermg the questlons

After the examination, you ; should

hand over the OMER Sheet to' the

Invigilator of the room:

The 'cahdidaté need not return
“this Quesﬂon Paper hooklet and

can take it after the completion of

“the examlnatlon No eandidate
should leave the examination hall
 before the end of the examinat‘ion. ‘

NMMS(E)

PART -1

MENTAL ABILITY TEST

Time ; 90 Mmutes
Max. Marks : 90

Noté :» SHADE the correct alternatives in the OMR
Answer Sheet provided, - from amongst the ones
given against the corresponding questions " the:
Questibn Booklet. For 'shading the circles; use a
HB Pencil. '
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Directions :

Questions (1 to 10) :

In the number series given below, one
number is missing. Each series is
followed by five alternatives (1); (2),
(3), (4) and (5). One of them is the right
answer. Indicate it as per the
“Instructions”. .

1. 16, 33,65, 131, ..7..., 523
(1) 521 o
@ 613
(3) 721
4) 261
(5) .324

2. 0,5,8 17,24,87, .2

(1) 64
(2) 65
(3) 56
) 75
(5) " 58"

3. 511,21, 43,85, 171, 341, ..0...

(1) 570
(2) 683
(3) 596~
(4) 626
- (B) 356

4. 0,83,8,15,24,35,..2..
1) 46 .
@) 51
(3) 48
@) 57
- (5) 45

5. 2,5,10,17,26,37, ..7..
(1) 50 S
@) 51
(3) 46
@ 57
5) 39

'B-125

10.

3, 6,7, 14, 15,30,
' 31,62, 63,

(1) 128,112

(2 119,131

(3) 127, 115

(4) 126, 127

(5) 135,136

~9,5,24, 61,122, .2....

(1) 163
@ 176
(3) 213
@ 227

(5) - 264

6,12, 21, .7.., 48
() 40 - ‘

@) 33
(3) 45
@ 53
5) 56

2460, 3570, 4680, ..2...
(1) 8640

(2) . BBT0.
(8). BYT0

@) 5790
(5) . 8460

1,8, 27,64, 125, ..2...
(1 216

@) 160.

(3) 148

) 156

) 210

NMMS(E)




Directions :

Questions (11 to 20) : In these
_questions, there are equations that
have become wrong due t¢ incorrect
order of signs. From the four
alternatives given below, find out the
correct order of signs, so that the
equations become correct. L

11. 36-9x4 =38

(1) » = + 3
@2): x,—, =
@ + -,=
4y +, #, =
S (B)
12, 2+ 3x5-1
' : (1> Xy =
2 = +,=
@) o=
@) =
BY o+, = %
18. 4+ 3xb=17
1D x =
<2) . ";: +, =
(3) = +7‘“
(4) =% =
(BY  +, -, x
14, 25=5x3+ 2
: . (1) ) +: : .
(2) i rpy=
3 =,+, -
4y x, ==
By .+, %
15, 17=7-2x3
O
(2) - x=
(3) =,x, +
4) - =+
B) +,-, %

17. 16x5-4=12

NMMS(E)

6. 32=21+4-15 .
1) - x =
2 +,- =
@ =+
(4) -+, =
By + - %

1)y =+ x

i

18. 15-3+4=3

19. 6=3+5-8

(1)VX)_>=
(2) _r+7=
(3) =t =
() 5=
N(5)'+)—,¢>,< :
20,85 =3x7-8
O
2y %+, =,
(3) +7'">:
) X =
(5) 5 %

Directions : '
Questions (21.t0 30) : In each of the

following questions, a set of figures
carrying certain characters is given.

Assuming that the characters in each
set follow a similar pattern, find the
missing character in each case.

21, 16

28

29

13

12

16.

14

10

15

30

L
(2

“)

- ®

) e

23,

24.

60
30
20
45"

15

3

15

1o

38|

13

2

(1)
o
' 18

(4)

3

(D
(2)
(3)

@

15
19 -

17

10

9

(5)

(8

(5)

(4)
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14
10 -
12

1B

14
10
12
16

16 15

‘;1215 12'—@#@%23 11{%)-:23,\, o

20 16

{71

- 25.

1710 |24]|18(26 |11 }]26 | 16| 2
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1512 447 28 64 53

(8)
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29.

44'7!

(1) 33
C @2 38
(3) 32
4 371
(6) 36 "

30.

)
2)
(3):
“
(5)

mu:-cow‘»—-e*

o Dlrectlons, 3

;Questlons (31 to 40) : The followmg
Questions - are - based on
arithmetic calculations: There. are five

alternatlves given under each questlon .

After identifying the ‘right” answer,
indicate it as per the “Instructlons

31 4444+ 444 + 44 + 4= .
1) 4934 ~
(2) 4836
(3) 4834
(@) 4944
(5) 4936

32,45 % ? = 2025
(1). 25
(2) 35
(3) 45
. (4) 55
(5) 15

B-125

simple:

isl

33.

34.

35,

36,

37,

120 + 500 = ?
1 024
2) 0.024
3) 24.0
@ 24
(5). 0.4

V625 ~ x = 10, x = '7
1 10 :

(2) -4

@ 15

45

B 6

~(5) 0.01

7546x05
6

(1) 375

@ 15
(8).75

@ 12

) 13

165,430~ ........ = 11,000
(1) - 54,030

(2) 54,400

(3) 54,430
(4) 64,430
(5) 55430

NMMS(E)

S 41, Car Garage

- B-128

38. 40% of 4200 = ?.-
(1) 1680
< (2) 1600
(3) 1480
(4)° 1580
(5) 1640

39, 8°+60

40. 001x005=7

(D) 1.005
(2 005
(3 0.000005

(4 00005

; (5)  0.00005

Dlrectlons

" Questions (41 to 50) In each of the .'
“following Questions, there are a certain.

relétionship between two given words
on one side of :: and one word is given
on another. side of ::, while another
word is to be found from the given five

. alternatives, having the same relation
- with this word as the words of the given |

pair. Choose the correct alternatives.
Aeroplane ‘7
5] Port
“(2) Depot
3) ’H»ang’afv
- (4) Harbour
(5) Busbay

. 191

42,

- 43.

, NMMS(E)
Race : Fatigue :: Fagt : ?
(1) - Food
(2) - Appetite -

. (3) Hunger

(4)  Weakness

- (B) - Fever

Candle Wax Paper ?
(1)~ Wood :
2. Tree .

(3): - Bamboo

4y Pulp

‘kq*(5>k 0il

44.

“Acting : Theatre :

Gambling : ?
(1) ~Casino " ‘

@ Club
(3) Bar

45,

46.

4)  Gym

(5) - Playgroun'd*

Water Convection :: Space 2
(1) Conduction j
(2) Transference
(8) Nacuum

(4 Radiation
() Evaluation

Growth “Death Increase ?
1) Ease :

 (2) Decrease

47.

(3) -+ Tease
(4) . Cease

: (B) Erase :

kOxygen Bum Calbondlomde 7
- (1) Isolate

(2) - Foam i
(3) " Extinguish' -
(4) Explode

(8) - Evaporate




48. . Dog-::Bark:: Goat : ?
) (1) - Bleat '
(2) Howl
3) - Grunt
(4) - Bray
©(5) Slap

49. Planet : Orbit :: Projectile : 7
(1) Trajectory R
(2 Track
- ® - Milk way
(4) Path
(6) " Universe
50. - Oceans : Deserts Waves : ? '
(1) Sea o
2) Dust .
(3  Sand dunes o
(4) Ripples
(5), . 'Particlé,s :
Dlrectlons .
" Questions (51 to 60) From amongst 1
~ the figures marked (1) @), 3), @);
select the. ﬁgure which satisfies the
“same conditions of placement of the
dots as in hgure X :

“@@@@

W1

(4)
(2) 2: g (3)3 (4)4 B None
o : ‘ ’
e edg
) @ e o
M1 @2 (3. @4 (5)None"

11

:t

' 5(1) 1

Wﬂl
L @ 4 ;
w1 @ 2 (3)3, f_(4>f4,<~5)fNonees;

1

57
NN 4
@W@ﬁ%&

(1),' i
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@é@@@

) Mm@ e @
@2 33 W4

® o Yo &
‘(2)2 »<3)3

emyﬁ@ﬂl
: (X) , (. (4) B W

@2 33

S w8 @
(2)2 (3)3 4 4 (5)None

.@

W1

(3)

@2 '(3)8

- BA425 SRR (101

@ﬁ@@@

5) None ‘

: ;‘ 60. " B |
i edy | POLLD

@1
(4) ,4» & (5) None ‘
Slppniinnind o Dlrectlons

dxfferent from the others:

4)4 (5:")/’Nonez 6.

& by

44 B None -

@ A3)

M1 @2 @3 . D4 (a) N‘one

@2 (3)3 (®4 (5 None

(Questions 61 to 70) : In each of: the»
following  questions, there “are five:
figures. Four of them are similar in a
certain way but one is not like the other
four. Find out, which are of the figure

- @ O O-O Q|

) @@ 5

oo, 30
>°<o Y41t
oc 17
@ (5)

85, .
(@[] A|l])[e]
o ;g) ‘m"(s)‘ @ ®) |
84. “ I:_/_‘:l ' = w_//’[
RS RN et B B D =aNN
[ T R @
B-125 | ‘ | . [11]
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85, KxXs[0000]T Tss[ccce|TTT
°==’=0@OCS'SAC§:§§§QE2Z
=atiefiliccecg R IHRRA
Vvl lssssl®0 0 Jt t71ls8ss
)] (2) ) (4) &)

“@ﬁ@@@
4} @ 3 @ - ®

67. A R i
OO0 OV | 7| 1wy
| Vi eob o =
(1) @ - ® 4 (5)

68, [T T i |srerrioo[Tio0

. tr s TR T T [ =mm 0]0.0:0.0]0:Git 1
$:8 S CET ===[C C.OSIT T TPIT AAA
¢ =pon|s s sfrpE
|4 (2) (O @) [0 T

69. o T T
[ @) () (4) -
IIVI >< >< '(HI 17
t it 13 13 3 (11} 1P i ii [
PN Y i LERNS 11 £1i8

sy () @ @ (5}
Directions :

‘| (Questions 71 10:80) : Select afigure

from the given'5 alternatlves which

| fits excatly into figure - X to form -a
: ’complete Square.- :

71
W @ <3> @
W1 @2 (33 @4 (5 None




72.

VAN N

(x) Q) (2 (3) . @)

M1 @2 33 D4 (5)None
- 43,

W W ® @@

W1 @2 @3 @4 (5) None

é]m

3) @

o1 g

W1 @2 <'3>_,3 (4)4

5.

[ e

(5) None ,

NMMS(E)

E‘:ILEE-IJ (3) i:rj

M1 @2 (33 (44 (5 None

O 3 [ 7 |

x 1 @ (3) NG

W1 @2 @3 (4—)4 (5) None

() 1) ( el 4y
1 @2 @ 3 (4) 4 (5) None

1 @2 33 @4 None

Ma@m |

(2) @ @

W1 @2 ()3 W4 (5 None

B-125 | [121

piaerieky

80. il  : e
L O
6 M@ @ @

W1 @2 ()3 @4 (5 None

Dlrectmns

(Questxons 81 to 90) : In each of the

following quesmons, the\ second figure

in the first uniti of the problem figure
_bears a certain relationship to the first .

ﬁguré. -Bimilarly one of the answer

figure bears the same relationship to

the first figure of the second unit of the

problem figures. You have to therefore

locate the figure, which would fit the |

Question Mark.

81. Problem figures
= > it o< ?
" Answer figures g

me e @ e

82, - Problem figures

i ANl B

- Ansier figures

ETRN

B R ) @

83? Problem figures

Answer figures

F

m® e @G

p e
<
iTC

84,

Problem figures
‘Answer figures ’

TR [©) @) &)

85.

886.

87,

| 88.

|[5>

‘ NMMS(E)

Problem figures
RIVIRSIE

" Answer figures
M @ ®) @) - (5
Probleni figures. ]
— (e L]
e |1 e

- Answer figures
R R B
VAN RVANS VAN VAN
™ @ . 4 &)
Prob{em figures

L

Answer figures

55

Mm@

Problem figures

3)

) (6)

]

—d

Answer figures

@

M




B-125

89, -

' Pro‘bl em figures

Answer figures

M @ (©) ) ()
f14}

" NMMS(E)
90. Problem figures l
S O} D + .0
T Ke] L 2
Cok|k T doo=et
Answer figures
— Dl Clew e Cle C
[ W] ] 0 ]
= ol= Y= 4|="elx B
M (I ] [CO RN (2
- B125
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: : PART - 11
 SCHOLASTIC TEST
- Time : 90 Minutes
" Max. Marks : 90
N()té e
(i) Subj-e¢ts, Questions Sl N 0.’ and Marks allotted - :
§1a5) ,Physics o - 91to 102 QuéStiohs .12 Marks
(2) Chemistry ~ 103to 1v13,Questibns’f‘ ‘ 11 Marks
(® Biology - 114t0125 Questions . 12 Marks
@ fMyathematyics o 126,to‘_‘145’~ Ques’ciéns 20 Marks i
: ®) History | 146 to 155 Questions 10 Marks
(6) Geography 156 to 165 Questigﬂs 10 Marks

(T ;Poliyti’cal Science 16610175 Qilestio'n's“ 10 Marks-

® Economics - 176t 180 Questions 05 Marks

: ( ii)  SHADE the circle having the correct alternative in the -
: " OMR Sheet . provided, from amongst. the 'on_es giizeh
; ‘against the correéponding ques’pionkin the Question Paper
Booklet. For shading the circlés, use a HB Pencil.

B-125 s [16] R ' e Bm‘@@ﬁl" o [171
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92, Which of the followmg has

93. 'A°" magnet = can test ‘another"

PHYSICS

91. As shown in the figure, a mass of
" -80 kg is applying a force to lift a
bleck of mass 6 kg with an
acceleration of 2.m/g?.
Find the reading of the machine
(consider g = 10 m/s?) ?

1) 228N @ 228kg
@ 28k @ BN

' relahvely more temperature ?

ObJect Temperatur.e '
A | =5C¢ |
B 5%
C. ] 0°C
D “25°F
WA ©®B
@ ¢ o @D

magnet by showing .:...:

(1) Attraction

(2) - Replusion =

(3) - Different size )

(4)  We can’t decide except with
colour. R

NMMS(E)

94, Which of -the followingvﬁ'gure‘

follows laws of reflection ?

10 VN - Q) 5 4 o
: : a0
@ w @ e~

95. How the followmg ﬁgure appears -

ina plane mirror /< ?

k  9.6». ‘Which of ‘the followmg is' non: »

contact force? "
(1 ‘Mascular force
(2)  Magnetic f force
+(8). . Normal force
4 Force of frlctlon

|97, An athlete complete one- round of

“eircular track of radius ' in 80's:
What will be ‘his displacement at
the end of 2 mlnutes 45 seconds 7

. (1) Tr
@ 27
T(BY 2

@) Tnr

B-125 ' T




98. Which of the followmg have mote

net force ?

(D) e 8N

B B

9.

- 100.

' “1 -4—N—> N

@ . 5N 15N

14N

13N

50N

A pen is falllng frhm a:taple,
. Neglect air vesistance. The free
;body dlagram for thls situation

o Q @ [I]

- B-125

_ﬁ ﬁ}

[20]

101.

102,
S horlzontail force applied on: it

" yelocity. (v)- is plotted against

NMMS(E)

If two plane mirrors A and B are
kept inclined to each other on an
angle 6 - with their reflecting
surfaces. facing . each. other,
multiple reflection takes place and
more than one image -
formed. Then which
of "~ the following )
staterent is true ? ‘
(1) Number "obf

images formed = 360 .

S o

(2)  If 0 is given, the

number = of. images

unique.

are

(3 Al 1mages lie on a circle,
whose ] ’
intersection of t"wo'mirrors.

(4)  All the above.

A block' rests on “surface. A

increases lmearly with time ¢
begms to act onblock at? = 0. It’s

time ¢ Which of the graph ig

~correct ?

@ | l

@) @)

-104. Observe ..thej? following. reactions

centre . lie’ on'

CHEMISTRY

106.

103. Choose the incorrect statement.

(1) Thermosetting plastics are

“. remouldable.

(2) - Polythene ig a thermoplastic.

(8) Melamine is a plastic used
for making kitchenware.

4y . In India, very thin polythene

-~ 'bags have been banned. .

between' a metal and another
metal salt solution,

(@) Copper+Z1ncSulphate solut1on '

®) Copper+ Iron Sulphate solution.
o (c) Iron + Zinc Sulphate solution.- :
(@) Zinc + Copper Sulphate solution.

: Only the _reaction ‘d’ is
pOSSIl)le but ¢, b and ¢ reactions
does. not occur. Hernce reactlve
- metal among the followmg islon

(1) Copper e

(2) Zinc

(3) Iron

(4) “All the three are equally
reactwe :

105. In the process of electroplatlng of
Copper on-an - Iron article, the
wrong statement is .

(1) Copper sulphate solutlon ig

fused :

(@) Tron az,mcle is connected to
‘negative termmal of: the. |

: battery.
(3)" Copper. ~metal rod ' is
- connected - - to positive

-7 -terminal of the.-battery.

(4) Iron sulphate solution is
taken in the electlolysm
beaker.

B-125
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In the recent days, which of the
following will provide heat to start
combustion on the head of a
match-stick ?

(1) Antimony tri sulphide.
(2) Potassium chlorate.
(3):- Starch,

4) Red phosphorus present in

-107%.

the rubbing surface.

Ramu . was  performing. - an
experiment ‘with a blue coloured -
solution’ (X) in ‘a beaker. By
mistake a shaving blade fell into

- the beaker. After half an hour, he

found - that - the eolour of  the

~'solutlon in - beaker: change 'to

“green- (Y). Whati:could- be the .

solutions X and ¥: regpectively ?

TN

] L e
Biue Green
solution solution ||,
X Iy

1 Iron sulphate
i ch sulphd‘fe.
2) ,Iron sulphate;
: Copper sulphate.
(3) Copper sulphate ’
Zinc sulphate.
(4)  Copper sulphate,
Tron sulphate. '




108. Silver foil is used for wrapping
fond. Which property of Silver is
used for this?

(1) Density

(2) Malleability
(8)  Ductility
(4). Strength

109. Choose the  wrong statement
~among the following : :

k (1) Fogsil  fuels - like ,coal
petroleum ‘and natural gas

-can not be prepared in the .

labhoratory.

(2) Formaton: of fossﬂ fuels is'a
slow . process ~and . the
required conditions can not

oy “""be created in the laboratory.
~'(8)  Various components of

.+ petroleum are separated by

fractional distillation, a

_process known as reﬁnmg of o

petroleum.

(4" Kerosene, - Diesel - - are

i principle fuels obtamed from’

“coal.

110 Venkat dlssolved a sample of a
food ‘item in few drops of water
and tested the solution by adding
two drops of Copper sulphate
“solution and 10 drops of 10%
Caustic. soda: solution. - He
observed violet colour: after few
mmutes
The food item he tested may be :
e Sugar (Sucrose)

(2 .Cooked Rice.
(3) Milk.
(4) Glucose.

B8-125
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111, Match column A with column B as

regard to characteristics of a-

flame and its different zones.

Column A Column B
a. . Darkinner 1. Hottest part
S'gone. |- of the flame.
b. - Blue zone 2. Incomplete
; : . combustion.
c....- Luminous 3. Un-burnt
- .zoné..| - -vapour of wax.
d. - Non-luminous: | 4. Complete
i “zone, <. combustion.
1y ett b2, 0-35 . d-4
(2 a2, b3, ¢4, d-1-
@ a3, b4, c2, d1
@ a4 b-1, c-2, d’-3

112, A burmng substance will , i

the temperature falls below 1ts
~ignition temperature
(1) be extmgmshed
~:{2) ~burn brightly.
3) burn dmﬂy
) burn Wlth smoke

113. Water i§ poured: ln’co two bottles X
. and Y as shown in the figure. The

mouth of bottle X’ is open, while -

that of ¥’ is sealed What will
happenV

Water

@® Water will ﬂow into both the :

bottles easily.

(2) Water will flow easily into

‘bottle X.

(3): ,Water will flow easﬂy 1nto'

bottle Y.

(4 Water will not ﬂow into both

of the bottles.

[Turn Over

s

®) Polic

114, Which method is employed when.
the availability of water is poor for

cultivation 27
~.(1) . Through canals. . .
(2} Through machines.
8 D'ri’p'irrigatloﬁ .
: (4) Through Tankers
115 T1kka dlsease is seen m .....
LYy Lemon S v
(2) Groundnut
(3) Tobacco ;

@ Paddy
116, The rdeal percenta e .of forests on
. earthis. .. ‘
a 23%
@ 3%
@ 1%
: '<4)*’, 5% -

117.7Match the 1tem m part«I';wﬂ:hv

part-1L.
Part-I Part 1L
(@) : Tuberculosis |(i) contammated
S " Water& food. -

e (u) Through air.
" (e). " Malaria ) Through air
' e : & water.
(d) Hepatitis-B. ’(iu)‘Through
. mosquitoes.
) a-i, b-iii, c-ii, d-ip
@ a-di, b-iii, c-iv, d-i
@) a-iv, b-i, c-di, d-iii
@) a-iii, b-ii, c-i, d-iv
B-125
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: NMMS(E) ;

118. Dengue fever is spread by .....
(1) " Female culex -
(2) Ades ; i
(3) Female anopheles
(4') Male culex

119. Fertlhzatron in human bemgs :
- takes place i in-. , :

@) Uterus

2) Ovary : o
g 1) F‘ailoplan tube i

(4) Cervix o

f 120.,'Who 'ﬁx}eﬁted vac'eiﬁe for ‘Smalb

o pox '
e Edward Jenner
@ L01us Pasteur

(3 Y. SubbaRao

@y Alexander Flemming

121, Choose the incorrect pair,
(1)’ Hydra - binary fission.
i :(2) Humane - mternal .
: ‘ fertlhza‘blon
-3 Fishes _external
S : fertlhzatlon
(4)_ Birds - mternal fertrhzamon

: secretrons
‘glands are called .
(1) minerals
(2) hormones
(3) ‘énzymes

- (4) " vitamins

of endocr ine

. [23] :
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123. External ears and epidermal hairs | 125.What are the three major ’ v MATHEMATICS ,
are the characteristics of ... manures for healthy: growth of - 126, The 1 . . ff\ ol , : 2; ; 2, .
; : enis e largest number of four digits N .
(1) Qviparous animals. ~ . plants ? . _ X XLz
(2)  Nocturnal animals. : B Y] Nrtrogen Manganese - v exactly divisible by 12, 15, 18 and 180. Ifx +y +2 =0, then ¥z T xy
(3) Viviparous. o : " Molibdinum. 271s. ' is.. ' '
(4) - Terrestrial anima}s. v (2) Manganese- . ) R (1) 3348 . o | W 5
: ' Nitrogen - Phosphorus. (2). 9720 o '
: , : 0 ; @3) 6182 : (2) - 8/3
124. The burnmg sensatmn to an ant (3): Phosphorus - @) Bedz “(8) 3
- bitedue to ... - SR * Nitrogen - Iron. Hae ‘(4) 0°
L4 Ntoen-’ ’ ' . : o i ,
® ’Sulphurxc acxd L _ - (&) Nitrog Ph i 5 t " 127. If @ 6795 is a five digit number Ry
- (2)  Hydrochloric acid osp orus - Botash. : that is divisible b 72, then the [ I8LIF 27207 = g then the value of
(2) Hyc ; v y g
(3) : Cltmc aCid . - o value Of a+b s ; : “ - Cei n Wln be ........ .
o , B B | - wa
’ ‘ (3) 7 @ 3
) 6 o
. ® 2

154 00 (@) 27
,128. If g expressed ag O+ =y :
2 69 i g - b+ 1 : TR :
e ; = s ,c-y-(l;z 132{{ The ratio (Qf)kbetween'diag'onals of
‘ twoﬂsquares is 2:1, then the ratio

thenthevalueof c + )= (@ +b),-|

\' whena, b, ¢, d are integers, will be... : betyveen their areas, will be ....... o
W4 @ o2
2) 5 (2) 4:1
(8) 26 L co3) 8l
4y 2 . o 4y 6:1
. 129. Ifx:y =3:4, thenthevalueof | 133.;(3.63) _(2’.‘37)2 o mpliﬁédto |
C(dx-y): (2 +By)is T 363+237 - e
(1) 4:9 S ws
(2) 8:9 o (@) 136
(3) 4:3 -3 226
4) 8:3 R (4 126

B-125 1251

B-125 o [241 : ' -~ [Turn Over




134

( s

‘,(l) x“ééy: k

135.

,/(2) 2.

Slmplest form of the expressmn

x8~y

(3)
=8 y.‘A

(4) x

If{x+y) (x y)-—5 1 thenthe.”,"

’ valueof (x —yz) (x +y)

: _w111 be ...

@

136.

(2)

@) 5:13
@ 2 3
(3) 3:2

13 :_5_ :

The area of a tmangle is

- 57.94 square cm. If the two sides
;-are 8 cm-and 19 cm respectively,
~then the third side will be ....

B-125

(2
@

(1) 15cm
21 cm:
20 ¢m
155cm

(D

137..

NMMS(E)

In the followmg flgure AB is a
d1ameter of a circle of radms 6 cm.,
CandD are points on the diameter,

~such that AC, CD and BD are equal;

Semi‘ circles are drawn with ACand-

" BC as diameters. The area of the

f shaded region w111 be

o
@

: 138;
- (2)’» 5

|- 139,

[26]

L (m=3.14)

' 37 68 cm?

4323 em”
36.68 ‘cmz ‘
'32.68 em?

3y
@

Théﬁ exaét relation fdr area of a |

Rhombus ABCD Wlll be . daenirn

(b8 5(AC+BD)’ :

! (sCxBD) :
(3) 4(AC + BD)

Ina triangle ABC, thich given

relatlon is true for its sades ?
(@R AB + BC > AC b
(2) AB+BC<AC

(38) AB=BC=CA

(4) AB=BC+AC

B-125

NMMS(E)

143 The area of trapezium is 31 5 cm?

(1)

(3

140. AABCisan isosceles with AB = AC.
IfZA = 80°, then ZC = .......
(1 80°
(2)-100°
(3) 50°
(4) 40
141. Areaof ws'h'aded partis ...
dom 144,
7Y ,
@& /=
L
/A
4 em - 4 cm
. i ’
) 16em? 145, |-
(2) “8em?’
(3)  4cm?
.(4) None -
142, The ratio of the cifcumference off
-two circles is 3:4, then what is the
ratio of thelr correspondmg areas ..
(1) 4:3
(2) 9116 =
(3)y- 169
4) 3:4
. [27]

and its parallel sides are 9.cm. and
5 cm, then the distance bewteen
-parallel suies 8.0

(1) - 135.cm
@ 56cm
(3) 82 cm
(4). 45 crﬁ

The diametef of a wheel is 35 :cm,
then its circumferenceis ......
110 em -

@ 20m
3) 95 cm'k

(4) 100 cm




149. Who built the town of
Thanjavur ?

(1) * RajaRajal.
(2) - Narasimha Varmal.
(3) 'Vijayalaya.‘
(4)  Rajendra.

150, Who' started recruiting muslim
fighters to serve him and to train
his. soldiers in the new ‘modes of

warfare ? ]

(1) - Bukkaraya I

(2) Devaraya 1L

(8) Krishna Devaraya
(4) Achyutaraya.

B-125

155.
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HISTORY

1486. The ash mounds in Deccan belong | 151. The mughal eIperor;. who -
to . onquered Golconda, Bljapur is.
n Animal Herders.'f - (1) Akbar
(2) Hunter - Gatherers. (2) Shah Jahan
(3) . Barly Farmers. . 3) Aurangazeb
(4) All of the above. . 4) Jahangu

'k : . ’152. The song. “Bhale Tata Mana '

147. Megasthanese Was an ambassador |~ Bagait” is in this cinema...
in the.court of ... .
(1) Ashoka (1) Mana Desam

 Asel (2)"Donga Ramudu-
(2)- " Ajathasatru G T b 4
(8): ~Chandra Gupta. .. o @) Maa Bho ‘o‘xﬁr sl
(4). Mahapdadmananda S S
; ‘ i 153. The two factions:of the Congress
148, ﬁhgh amgnsg entl}eige dsuz{f;eg S umted agam in 1916 through i
ahajanapada the ...
pow‘iverfulyykmgdomk‘) a Karachl‘pact -
@ Sur-asena @) Amrits;ar‘pactf
(2) Anga ' ~ (3 Lucknow pact
(3) Magadha ; (4) Bombay pact i
- (4) - Kambhoja~ Lo ’ ‘
: "154. Who' sub-dued the Palegars -and 72

disbanded ‘their armed: followers
in Rayalaseema ?

(1)~ Thomas Munro -
(2) William Bentinck =~
(3) - Cornwallis

(4

s ames’ Read

Who gave the famous slogan
“Swaraj is my bu‘t;h rlght and I
shall have it™ ?

(1) Lala LaJapat Roy B :
(2) ~ Bipin Chandra Pal """
(3) MK Gandhi

4).

Bal Gangadhar Tilak -

159, Who" werei the, ﬁrst"Europeans to

160. Whmh trees grow in the areas

'mmins’(sp

GEOGRAPHY

1586. O° latltude (Equator) does not |
pass through this continent ?

(1)  Asia

(2) Africa

(8) South America
(4 Australia

directly over the T!‘Oplc of Cancer ?

(1)  June 21st :
(2).'December:22nd.
(3) September 23rd
) :

March 21st

158. Bandar canal takes off from

o (1) Nagarjunasagar :

(@) Srisailam
(3) Prakasam Barrage T
@ Puhchmtala :

be seen by Eskimos from Iceland ?

(1) - - British
(2) Ttalians
(3) - Vikings
(4)' Mayahs

Wlth snowfall ?

159, On Whlch day, does the Sun shine: |

161, Which of the following is a non-k
metallic mineral ?-: .

(1) Mica -

(2) Rocksalt

(3)  Gypsum
@

All the above. :

: 162 Tsunaml means

(1) Harbour waves S oy
2) Vlbratlon '
3) Snowfall
4 Calamlty o

163 Who prepared one of the first‘ v
survey based maps of India? =~

- (1) James Rennel
‘ (2) CE William Lambton
(3) Hecataeus :
: (4) Al Idr1s1

164. Find out the wrong statementx'
about river Nile . ,
(1) The Nile orlgina‘te‘siffom '
“lake Victoria.

(2) - It flows through the Sahara
: jdesert :
(8) The Nile also ﬂows through .
- Egypt.
(4) : None of the above
165. Which is the largest country in
Europe ? ‘
(1) Russia
(2)" France
3) Italy
@

(1) Deciduous forests
(2)  Mangrove forests
© (3) Coniferous forests
(4). Equatorial evergreen forests
125 [29]

Ukraine




POLITICAL SCIENCE

166 Who is the President of India ? 171. Who - - started . “Jagan - Mitra
(1) - Pranab Mukherjee
(2)- Pratibha Patil
(3): Ram'Nath Kovind

(4) - ESL Narasmlhanf

among the dalits by using popular
folk arts ?
(1). Arigey Ramaswamy
(2) * Eshwari‘Bai
« » (3)  Narayana Guru
167. Jfoothan is ’che autoblography “) Bhagya Red dy Varma
of ... , |
(1) Dr.BR Ambedkar o
(2) = Omprakash Va1m1k1

,172'.’.When was the first meetmg for
Constituent Assembly held ?

~(3) Bhagya Reddy Varma (1) December 1946
S4) Jyothlba Phule o (2)  August 1947
| e (8 January 1949
168 Who questxoned “You should be | (4 March 1948

ed of this, you have eaten i in |
our home. How can you deny it ? 173.
 Why did you give me life ?” on| D
~caste discrimination ? ‘o
(1) (,hoka ’s Karmamela
(2) - Narsi Mehta - -
' (3) Annamacharya

Soc1ahst means ...

'heredltary :

; ) I T mequahtles
: (’4)0,;;Kab‘m, s o (3) - Government will not favour
i ~_any religion.
169. Whick. - - ‘amendment: . of | 4) None of the above.

Constitution made education as a

fundc\mental right ? Ton 174. Rajya Sabha members are elected
(1) 86th amendment N by the....... : o
@) 90th amendment SRR (1) Members of Leglslatlve
 (3) 96thamendment : Assemblies.
' (4)  100th amendment -2 (2) Members of Legislative "~
' ' Councils.

(35 Members of Lok Sabha,

ada-Act,. 1
170 Accmdmg to Shar wda ct,- 19295 () All of the above.

what is the minimum  age of
- 'marriage for girls ?

(1) 712 years

(2) 14 years : : )

175. Number - = of - Lok

L @ 22
(4) 2lyears _ _ (3) 25 COR
B-125 [30]‘,

NMMS(E) :

Mandali” to. spread awareness

The head of the ‘state is an. !
elected person dnd not a

(2)  The country should strive to
. yeduce and end all kmds of

v " Sabha
© Constituencies it Andhra Pradesh

176. Factory system was started ..... o

¢h)

@
®
@

177. The health employee Workmg in
the sub- centre, is called

. Asha worker o

: Multl purpose health
_ Assistant. ‘

,Quahﬁed Doctor
- AlI the above

7<11
@)
3)
@

®
@
@

B-125

1‘78 One of the arly bankers of Indla
Jagath Set s belong to e

V,Maharashtra ‘
Tamllnadu

PunJab L

ECONOMIC S

Between 1750-AD - 1850 AD.
Between 1850 AD - 1950 AD.
Between 1900 AD - 2000 AD.
Between 1800 AD - 1900 AD.

31}

NMMS(E)

179, Who deVlSGd a method of laying
‘the road using broken stones.? .

o)
@
@)
@

John Loudon McAdam
George Stephenson -
James Watt. . k

Boulton:

180, Who is -respongsible: for’ printing
and cxrculatlng the money 7

o
@
-

@

Reserve Bank of Ind1a

Flnance Mmlster :

‘State Bank of Indla o

‘ane Mmlster of Indla



